



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ คะแนน: \_\_\_\_\_

$$(-8)^{(-1)} - (-5) =$$

$$(-5)^{(-2)} + (-4) =$$

$$1 + 8 =$$

$$8^2 - 3 =$$

$$10^{(-1)} - (-8) =$$

$$2^2 - 6 =$$

$$(-8)^2 - (-5) =$$

$$(-8)^2 - (-7) =$$

$$1^2 + 1 =$$

$$5^{(-1)} + (-5) =$$

$$8^{(-1)} - 10 =$$

$$7^{(-1)} - 5 =$$

$$1^2 + (-9) =$$

$$7^2 + 3 =$$

$$2^{(-2)} + (-10) =$$

$$(-2)^{(-2)} + 2 =$$

$$2^{(-1)} + (-7) =$$

$$(-10)^{(-2)} + 9 =$$

$$(-1)^2 + (-3) =$$

$$3^{(-1)} - 3 =$$



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ คะแนน: \_\_\_\_\_

$$(-8)^{(-1)} - (-5) = \frac{39}{8} = 4\frac{7}{8}$$

$$(-5)^{(-2)} + (-4) = \left(-\frac{99}{25}\right) = \left(-3\frac{24}{25}\right)$$

$$1 + 8 = 9$$

$$8^2 - 3 = 61$$

$$10^{(-1)} - (-8) = \frac{81}{10} = 8\frac{1}{10}$$

$$2^2 - 6 = (-2)$$

$$(-8)^2 - (-5) = 69$$

$$(-8)^2 - (-7) = 71$$

$$1^2 + 1 = 2$$

$$5^{(-1)} + (-5) = \left(-\frac{24}{5}\right) = \left(-4\frac{4}{5}\right)$$

$$8^{(-1)} - 10 = \left(-\frac{79}{8}\right) = \left(-9\frac{7}{8}\right)$$

$$7^{(-1)} - 5 = \left(-\frac{34}{7}\right) = \left(-4\frac{6}{7}\right)$$

$$1^2 + (-9) = (-8)$$

$$7^2 + 3 = 52$$

$$2^{(-2)} + (-10) = \left(-\frac{39}{4}\right) = \left(-9\frac{3}{4}\right)$$

$$(-2)^{(-2)} + 2 = \frac{9}{4} = 2\frac{1}{4}$$

$$2^{(-1)} + (-7) = \left(-\frac{13}{2}\right) = \left(-6\frac{1}{2}\right)$$

$$(-10)^{(-2)} + 9 = \frac{901}{100} = 9\frac{1}{100}$$

$$(-1)^2 + (-3) = (-2)$$

$$3^{(-1)} - 3 = \left(-\frac{8}{3}\right) = \left(-2\frac{2}{3}\right)$$